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Question Number : 1 Question Id : 9683553650 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What is the nature of skewness to the data set given below?

X |10 |20 [ 30 |40 | 50 | 60 | 70 | 80 | 90 | 100
Frequency | 3 | 6 [ 10 [ 15 [ 20|35 49|21 | 10| 4

Bro% sEtats deod S8 %0 eriin dng) Serdin Q.
X | 10| 20| 30|40 |50 | 60| 70 | 80 | 90 | 100
aPRaggEn | 3 | 6 |10 15(20(35|49 (21|10 4

Options :

Positively Skewed
Foed)E eTPHSE0

Negatively Skewed
5 ¢ 20EPdE e

Neither Positively nor Negatively Skewed
FrE)E anmd)l eTPHssn

3. %
Symmetric
Syl o oL
T oé.,ﬁé.)_a

Question Number : 2 Question Id : 9683553651 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following players is more consistent from the following data of three

players in a cricket batting scored in Six innings.
836 emyBoné” wth afyoned” Suihth sbred) #H0DS Bamodin Bolf afpas, Bod

e:%ri:-rw'@@’ inley &Jé}éé ?86«im° &0trH.

Innings-1 | Innings-2 | Innings-3 | Innings-4 | Innings-5 | Innings-6
Player-1 0 30 60 120 60 30
Player-2 40 50 60 50 60 40
Player-3 20 40 80 160 10 10

Options :



Player-2

1@ eérmd -2

Player-1
@i -1
2. #

Player-3
3 % @OrH-3

All the players

4 % lelnle)) sgﬁmvsf{,

Question Number : 3 Question Id : 9683553652 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the other name of the Measures of Central Tendency?
Solss a;%‘i Fode @ns) a8d 280

Options :
Peakedness Measures

1 % Bgpoe|il Sedten

Scaling Measures

o % wpen Feden

Location Measures

P ﬁgé Ererchen
3. ¥ ’

4. %



Shaping Measures

w83 E'oden

Question Number : 4 Question Id : 9683553653 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following measures will make use of the lesser data when compared to
other measures?

8ot aiads Podo 388 Foded FANIHH 6 L8 Seodind sharihob.

Options :
Geometric Mean

toee ogigEinsin

Arithmetic Mean

08 $LigE0w

Standard Deviation

Quartile Deviation

4 ﬂiﬁ:@;ﬁ{}%é aSeHamw

Question Number : 5 Question Id : 9683553654 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which measure is more appropriate when the data is nominal scale

Barodsin arirgsd) s e O Fod 9356,

Options :
Median
VAN ATI T

1, % i
Range
PV

2. % &%
Mode
e

3 ¢ 2D FEs0
Mean
oL sl

4 % m)iﬁﬂfﬁjm

Question Number : 6 Question Id : 9683553655 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following measures is appropriate when the data is available in ordinal

scale?

B &) (ordinal) e’ derodin wolartnd® &8 Bod 86" Qb JB36.

Options :

Kalr- Pearson’s Coetficient of Skewness

5o — HOHG)S wTPHD HHeasin
1. % i

2. &



Bowley’s Coefficient of Skewness

%8 edr .:1“3 eatsin

Yule's Coefficient of Association

goes P_{':-"‘"‘ ) £ 4
3. 5 Cooee I5 %., ﬁ_mc-éhfb_)

Karl Pearson’s Coefficient of Correlation

520 - JoHB)R Hirdomod HHeasin
4. %

Question Number : 7 Question Id : 9683553656 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct response with respect to the limits of the
probability?

Bob & RHograd ang) :0dde Homolol) JBN (8 $oks.

Options :

-, 01]

2 [0.1)

[0.1]

Lo O

Question Number : 8 Question Id : 9683553657 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What 1s the nature of events in defining the classical Probability by Pascal?

FS TR 0D H0grEgEd E‘ﬁ&ﬁ@zﬁéﬁfﬁg Hoznede Segrisn aihd.

Options:
They are independent. identical and non-exhaustive

- 08 SydolBiinen, 28500, HHiH.

They are equally likely, mutually exclusive and exhaustive

P &8 Hsodogrags, HDEHBo L;':]F%éﬁjé s0BAID HEpHITR.
2. = ] =

They are infinite. independent and asymptotical

o) @08, gfold sHddin efetirdsine
3. %

They are conditional. disjoint and independent

e Ab&e, HoosHnod HoH SrdolEnsd
% = ==
4,

Question Number : 9 Question Id : 9683553658 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What are the total number of possible outcomes/events when a die of ‘m’ faces will be
thrown ‘n’ times?

‘m’ Swgre O 0 5)%363%0‘5;@5353’;@&3 #iﬁéﬁcﬂ% oo $dmrenfioshiide

208y 208,

Options:

1 % m*n



(m)"n

2.
- (n)"m
4 % WN

Question Number : 10 Question Id : 9683553659 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

People responsible for inventions of Mathematical/Classical — probability:
Statistical/Empirical Probability and Axiomatic approach to the Probability respectively
are

K fmhiod Sogrilsd; rogg¥/Rrimey (Empirical) Sogeiis: bk wofe Hoaod
Rogrid dgrdime sdiBeet ard e e S
Options :

Kolmogorov. Laplace and Karl Pearson

LIRS, erarh B0 2§ HALBS

1. %
Laplace. Von Mises and Kolmogorov
5 ePerR, PRI 00N BSarTa

Kolmogorov. Pascal and Von Mises

BSIrTD, S Hbain TadhRR

Karl Pearson. Laplace and Kendall

525 HoHHS, S Hbasn Sowrd
4, ®



Question Number : 11 Question Id : 9683553660 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

IfP(AUB)=0.85:P(A)=0.3: P (B) = 0.6 then A and B are
P(AUB)=0.85:P(A)=0.3:P(B)=0.6 wond A 52086cn B en
Options:

Independent and Exclusive Events

. ol Hboin HI0S Ttrden
1.

Dependent and Exclusive Events

) 3080 X0 Foéoden

2. %
Dependent but not Exclusive

3 v BErDNG, 520 JN085D s°th
Independent and Equally Likely Events
ego|gsin snbain Db Do Foérden

4, ®

Question Number : 12 Question Id : 9683553661 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
. If an unbiased coin 1s tossed 5 times. then the probability of gefting 3™ Head at the 5"
trial 1s

= i iy D Qe g -
Qa8 TEim b 8 dhb 3chada 5% e 3% k) do (Head) Srod wdsd.

bl ™ ©



1/8

1, %

2. v 38
3. % 8
sx '8

Question Number : 13 Question Id : 9683553662 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

There is a possibility that a lefter has received from either HYDERABAD or
ZAHEERABAD. On the post stamp two consecutive letters ER are legible. What 15 the
chance that the letter is being received from HYDERABAD?

2% B9 Irizerd (HYDERABAD) 8te axéroeert (ZAHEERABAD) 08 @0tH&3
ofedin 65)8. & Sod D Both S eforen ER Yore smmom. & g rirerh
(HYDERABAD) 508 s0th&d edsdin dos?

Options:

, w 1017



Question Number : 14 Question Id : 9683553663 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If A and B are two independent events both having probability ‘p* and P(A U B) = a.
Then the value of “p’ is

A 56050 B e ot dol@ speden, stof) Sogrsen P’ nocm P(AUB)=«

EOR Sotro. e;-o;}éaﬁg,ﬁ‘ﬁ ) fi&)é@ Dend.

Options :
vi—-a
1. %
5 % “va—1
{
1-+1-«a
3.

Question Number : 15 Question Id : 9683553664 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If the c.d.f. of X 1s F(x) = 0. for 0=X. F(x) = x/8. for 0=X<2, F(x) = x%/16, for 2<X<4,
F(x) = 1. for X=4. then the value of P(1<X<2)

X alng) degrestd Habobsn F(x) = 0, for 0>X, F(x) = /8, for 0<X<2, F(x) = x*/16, for
2<X<4, F(x) = 1. for X>4, wani§ P(1<X<2) @ns) denid
Options :

w178

2 % 5/8



3/8

1/8
4.+

Question Number : 16 Question Id : 9683553665 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What 1s the nature of the cumulative distribution function?

H0DE Deeesd (HahoHsm GBng) Degradisin s

Options:

Negative and decreasing function

eneare)E 3Bk 25655 es (Henchdin

Positive and mcreasing function

Céa‘n-.-’_éé HB0%n et (Hahchdn
2. %
Non-negative and non-increasing function
BwerE)ES 5= 0 w8 5°0 [Hahahdn
3. %
Non negative and non-decreasing function
eTE)ES 5°R) 0O e eHBEES 500 (Hahdhdn
4. v

Question Number : 17 Question Id : 9683553666 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
( 3 ) - - .
Let {X, | be a sequence of random variables. <£» converges almost surely if and only if

a.5
{x, Jesi80 dirg)DE Sorribe it x; >x @b

Options :

%

i
Pl lim X, =X [=0

W00
1. %
f . )
Pl lim X, #X |=a; 0<a<l
L n—>0
2. %
P| lim X, =X |=1
| 1 —>0 J
3.¥
e
Pl lim X, #X |=1
\n—00
4. %

Question Number : 18 Question Id : 9683553667 Question Type : MCQ Option Shuffling

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Let {X,}be a sequence of independent random variables such that

P[X .= l] = l; P[X , = 0] =1 —l.n =1.2.... Which of the following statements is true?
l w

\
X (R0 ol aiRE Jeorde B
LN oJ 2w

Plx, = 1]:1; Plx, = 0]:1—1.?3 =12.... wow Bob S OB Dasi
fH il

Options:

:YesIs



qm |
X, converges to zero i r (qlmdlatlc‘} mean | X, >0
1.
X, converges to zero almost surely | x, —}O |
2. %
P qm |
X, converges to zero in1 (quadratic) mean | X, — 0
i a 5 1
and X, converges to zero almost surely | x;, -0 ‘
3 %
qm )
Neither X, converges to zero inr (qu*idntu.} mean | X,, —> 0
as |
nor X, converges fo zero almost surely ‘ Xy —0
4, ®

Question Number : 19 Question Id : 9683553668 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If X has probability density function (p.d.f) f(x)=e™: x>0 and

(X if X>3 -

=1 . . then the expected value of X 15
|2X+3 if X<3
. . X if X23
X @né) Sogrdlgd roliss [Hababsin flx)=e™: x>0 898 Y= |
% 2X+3 1f X<3

wondah X g edold Deod

Options :



| % 5-Te
7-5e7

2, ®

Lo 5T

4% 75

Question Number : 20 Question Id : 9683553669 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

. As per Weak Law of Large Numbers. P { # - ;f‘ < 6} = 1-n for all n=0. 1t further

become P{|.1_'n & ,{f‘ i 5} —(L). as n—w; and P{|.*T'n —;f‘ > E} — (M). as n—wx, where (L)

and (M) are respectively

; ‘ (
8PS Joggw GE) aoerd ShindHood P[

-::5}—;.(1). n—o E;’)Jﬁch}Pﬂ.‘T'n—ﬂ

n+h+ X
i

—,u‘ - a} 21-n>0,

&%, dosd P{[T, - u

EE}—)(M) n—w (L)
0t (M) en Sedne
Options :

0.0
1. %

g |

3.v 1O

0.1



Question Number : 21 Question Id : 9683553670 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1 1 1
§ = ET[ |X|r I—l—Er[ v ] 15 due to

The inequality ET |2

1 1 1
ET[> {Ef I+E1‘[ Y[" | eodasomisiio
Options :
Schwarz
b
1,8 R
Minkowski
-'J.J.;ngoﬁ'g“
2. %
Cauchy
goo.
3. % -
Holder
lals)
4. % =

Question Number : 22 Question Id : 9683553671 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
JIf X, Y are any two random variables then the conditional Expectation E[E(X/Y)] =

X, Y en 03w BoH arE)nE JovedHen wand 86 edobsiin E[EX/Y)] =

Options:



., EIXEM))]

4, *® e

Question Number : 23 Question Id : 9683553672 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If X 1s a random variable and a. h are constants, then V(aX+h) =

X e0386 Cﬁ:ﬂc’%‘:ﬁ;]é Jeord $08aim a.hen ?doja‘igm wowsd V(aX+h)=
Options:

% V(X)

y a’ V(X)

L % aVEO)+h

4 % aV(X)+h

Question Number : 24 Question Id : 9683553673 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Mean and variance of Binomuial distribution are 3.2. then value of n=
6385 Dgresdsin o) sngiEnsn, A 3,2 eond n @Y Dend

Options :

1% 3

Question Number : 25 Question Id : 9683553674 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. The probability of getting ® success at k™ trial can be obtained by applymg the
probability distribution namely

k& (©0566° 1$ Rensd HSogrspsd SroderDs «5@05’3%053 Sograld Deresdiiin

)
Options :
Geometric
ﬁﬁ;&“ﬂé‘a G
1. %
Hypergeometric
X eVt te
2. ®

Negative binomial

mwé&é Ehé?jéé-
3.



Binomial

&8s
4. % o

Question Number : 26 Question Id : 9683553675 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
which pair of the following probability distributions will satisfy the memory less property

(Boby Hograys Qeradinod® § ad op oJ GERE rﬁ«’ﬁdmc“aj oé ) 206

Options :

Geometric & Hypergeometric distributions

e TnBO%H HHdain ;"31’%6‘”&6 QgIea3dainen

Exponential & Normal distribution

e $0daSn Arsirdy Deredsnen

Gamma & Beta distributions

e Hockn der Deradsdven
3. %

Geometric and Exponential distributions

CIAY 0éch Hocn Hrd Deraddnen

Question Number : 27 Question Id : 9683553676 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following probability distributions will not obey the similarity notions?

Bof) arQE° o) Hograyd Dapadinen PUrs; rRRor 80ds
3] G

Options:
Bernoulli and Bmomial Distributions

B008 sHbain NG Dgresiisinen

1. #
Geometric and Negative Binomial Distributions
A e lEalenyy anErE)s B8 Sgresisinen
2. % i
Geometric and Hypergeometric Distributions
ezopEah By @8 K el dgresdsinen
3.¢
Uniform and Rectangle Distributions
QBN S0dasn 5@‘5&3&5@ Derazdinen
4. %

Question Number : 28 Question Id : 9683553677 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following distribution is odd in terms of the range of the random variable it?

808 Deradsnod® 59 ai0E) dﬁ}%fg&];é Sored ank) m&@f{)&& S0 Zhre &0tnod.

Options :
Binomial Distribution

02385 Dgresdsioen
1.¢



Geometric Distribution

ﬁﬁac{b@dﬁ Deredadn

Negative Binomial Distribution

mmbe‘_ﬁ&é Ets Degresdsien

3. %
Poisson Distribution
n SPONBE Sgransnen

Question Number : 29 Question Id : 9683553678 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following probability distribution 1s different from others with respect to
their number of parameters?

Bob B8 &) Hogrins Jgpadiin n8) SSoeshée Soggd Sowofor) sEdimehod
Oyghore Sotnob,
Options :

Binomial Distribution

08 Dgresdzin
1. ¢ .

Poisson Distribution

SPonEe Derarddin
2. %

Geometric Distribution



Bernoulli Distribution

4 % BONO Degresdshn

Question Number : 30 Question Id : 9683553679 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

)
. : 1(X— g2
. Suppose X ~ N{;LD‘E ) then U = ;I ' 1 follows
) 1(X— 1 2
X~ NL{LJE_ wond U=—| 24 ‘ 000806
' 2N e
Options :

Normal distribution with parameters 0 and 1

rEry Hegresdsin soedhden 0 HHbBasn 18°
1. %

i . . . . 2
Normal distribution with parameters 0 and ¢~
S
ArErRy Degredsin sordhden 0 &Hddin ¢ &
2. %

Gamma distribution with parameter 1 and 1

3 % eoe Segresdsn Hoeduenen 1 08050 18°

Gamma distribution with parameter 1/2

p v PSP graddn Joend 1/2 &

Question Number : 31 Question Id : 9683553680 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



. The mean of non-central F distribution with 73 and "z degrees of freedom and non-
centrality parameter 4 is

SolBchdns®d F Qepeddn MyHBo M3 c%ﬂ%é@éé?@ 5B A

DEolbad Hoehd o) sieeEan

Options :
my (7, —2)
ny(m+ 4,)
1.
m(m, —2)
7y
2. %
ny(m + 4)
m(n, —2)
3.¥
m+ A,
My 2
4.% 7

Question Number : 32 Question Id : 9683553681 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3
X X

. The pdf of Normal distribution given by f(x}=—e * > . then the mean and variance are
T

2
— +_
4

b |

o o
apiirRy gressdiin Gng) Sogrigs Seo(ts Bahohsn fx)=—e
| T

00N TR éaiﬁééam Ealony 5@@&

Options :



|"2 1
%)

‘ri_gn‘
4. % SO

Question Number : 33 Question Id : 9683553682 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. The following theory 1s more promunent in propagation of Curve Fitting by Least squares
method

Q) 33 3’35&& o S @HogrdH Jat (Hs6ins® D0 [HinpDso

Options :
Rao-Cramer Lower Bound

ooy (5000 (8o e

Gauss-Markov Setup
> mR-Hrd)s ©HdE
Kinchen-Byneme Weak Law

B803S-BOD etrd Seysn
3. % N



Kolmogorov — Smirinov Assumptions

SR AR —00F° &ssFen

Question Number : 34 Question Id : 9683553683 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following graph sheets can visualize the linear pattern of scattered points
for fitting the Power Curve?

03600 dothije @ns) H8¢ Siraed %ﬁ'é}g&aﬁéa“m
(Power Curve) e eidomlodhed® Sriko o (M5 HEdn 06?

Options :
Ordinary Graph Sheets

Pgrtes [Py Higsn

Semi-Log Graph Sheets
@8 SoHBITD (e DS

Double-Log Graph Sheets
B0y oY (e (8o
3.4 ® G
Square Ruled Graph Sheets

S8 Sde ([mD HlE5n
4. %

Question Number : 35 Question Id : 9683553684 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



. Which of the following measures i1s appropriate for handling the bivariate data of two
distinct variables X. Y. where X is on ordinal scale and Y 1s on Interval Scale

X o056 (85 f;@ﬁn} $0an Y w0kt ?J@m 20, XY e doth Q) Jevede

GwE) Br38 Saodin Aderodms Eob >HE 585 Fod

Options :

Pearson’s Product Moment Correlation Coefficient

20D Dirbomoy MHeasn

1.
Spearman’s Rank Correlation Coefficient
2096508 B8 Sirdonos Heedsn

2. ¢
Yule’s Coefficient of Association
aSireds SRty rheadsim

3. %
Pearson’s Coefficient of Contingency
DOHBYS 5SS KesBin

4, ®

Question Number : 36 Question Id : 9683553685 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. Which measure is appropriate when the variables X and Y are having non linear
relationship

X 08ckn Y Seoede gy 98¢ Somodin ééj)@‘:aatﬁ:éﬁaﬁl‘jtﬁ} o Fod 5056

Options :

1. %



Correlation Coefficient

HsFon0oty Hessin

Correlation Ratio

VAt Ay
5 @ RErdonot a8
Coetficient of Colligation

D omEsn (Coefficient of Colligation)
3. %

Coefficient of Contingency

eS8 Hoeskdn

Question Number : 37 Question Id : 9683553686 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. The point of intersection of two regression lines Y on X and X on Y will be obtained at
X &5 Y 560t Y i X e Both (5585508 Sgo goidd Dot m
Tragath®od.

Options :

Variances X & Y

X 50060 Y o 58
=

Correlation coefficients of X & Y

X oam Y o awng) Ssrdonog Heasn



Regression coefficients of Yon X & Xon 'Y

Y anes X oot X s Y e @) B8NS rhesin

3. %
Meansof X & Y
Ly X $50aim Y o Gng) soeiganim

Question Number : 38 Question Id : 9683553687 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. What 15 the angle between two regression lines when the correlation coefficient between
two variables is equal to zero?

BotH JemdHe &éﬁg Rerdoaoy Messin D Sirdor {%@@L‘fﬁ, @ Do (80
Ope o5 SN

Options :

Perpendicular

1 ) \‘;.u"? lal_.-'{:}f.;\_p'm

overlapping one on the other

2. 80808 208Ed Hlaiss

2.
parallel and they won’t intersect
SdrodsEn HHdkn poloHetH
3. %

mtersect at more than one points
2.& DotHd Lo o) ﬁ%; POLD
4. %



Question Number : 39 Question Id : 9683553688 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. Which of the following distributions are considered to non-similar with respect to their
range of random variable of Fisher's Z distribution
D0y Z Dgraadsin @ng) AErE)ing Sooed o) a8 Hoaodod (Bob TR O

Daradiindin rErdd 86 elalolaban)

Options :

Beta -2 Distribution
er -2 Dereessdsin

1. %

Double Exponential distribution
_ B8 05y e Derasdsin

Gamma Distribution
3 @ R arediin

Student's - t distribution

Deregd —t Dgrresdain
4. % &

Question Number : 40 Question Id : 9683553689 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The following distribution 1s considered for obtaining the probability density function of
F- distribution

F-Dgraxiiln Gog) Sogriigs srojtses abahsn Srotitio B (Bod Jgpadiin
S0nGodnthaod.

Options :



Beta Distribution

- De Degreassion

Gamma Distribution

R Dermesdsin

2. ®
Cauchy Distribution
52, Dereeasisin
3. %
Generalized Gaussian Distribution
FrreSEEBoSnlS mhohs Derenddn
4,

Question Number : 41 Question Id : 9683553690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. Which one of the following distribution 1s to be considered as Ratio of two independent

Chi-square variates?

8ob Depzddnod® O 288, doth xdo(# /‘_fz - Joordie Aar DoKdodathdod

Options :

Beta distribution of First Kind
|y D IS B Dgradiin

Beta distribution of Second kind

S v De Dok BESD Deresssin



One parameter Gamma Distribution

w8 DOREDS i Sareadiin

Two parameter Gamma Distribution

4% ExITPEnS reae erresidain

Question Number : 42 Question Id : 9683553691 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The ranges of Beta-1. Beta-2 and Gamma distributions are respectively
Der-1, DNep—2 HB650 msr Dereadsine ajde.”;@\. SoRre

Options :

(0.1), (0.n).(0,20)

(~c0.40). (0.1). (0.20)
2. ®

(0.1). (0.20) (0.0)
3. %

(0.1). (0.2).(0.1)
4, %

Question Number : 43 Question Id : 9683553692 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Let T, be an estimator. If E(T,) tends to 8 and V(T,) tends to zero then what 1s the nature
of the estimator?
Ty 02036 a8 woddre 6otdiod. B(Ty—0Hddn V(Ty—0

(Foamy) ewond, & eodae ang) e,

Options :

Unbiased
Dap&8sn
i et

Consistent
Efjmééég_;ﬂjj
2. ¢

Sufficient
&Gﬂé{gé

Efficient
-\I = |:\"<.
. aﬁ}cﬁJgﬂgm

Question Number : 44 Question Id : 9683553693 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which type of estimator does the Neyman factorization theorem provides
36,8 bErod Saielian 80003 ®od I B
Options:
Sufficient

1@ 023588

Efficient
¥ PO O
2. % Z



Consistent

Y 0 L S
aJP;c{.‘Ee_aéc 0

Unbiased

QamB8sn
4 8% St

Question Number : 45 Question Id : 9683553694 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

I Xi, =1, 2. ... n1s a random sample from Uniform distribution with parameters a.b
such that a~b. then the Maximum Likelihood Estimator of b is
X =12 00 Oﬁfmtﬁe)&;é D a,b>0

SoeSoSErsN S5 Deradin SHod SRR, b ang) 183} Jogri wods

Options :
Max {X;}
o (X
1. s
Min {Xj}
ot .
5 808 1 Xij
Median {Xj}
3 % soeigriessin {Xij

Sum {X;}
4 % o0dsw {Xij

Question Number : 46 Question Id : 9683553695 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
X~ N(M.G‘z). and |1 1s assumed to be known. then M.L.E of o’ is

X~ N(1L.6%) 98> 1 et 300aingsd &rods 6 @) oy Sogrsd eosm

Options :

2. %

1 L i

_Z[I;'_,”}

=]
3.¢

— -
. ”;h }

Question Number : 47 Question Id : 9683553696 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

; Probabilities of Accepting true Hy and Rejecting the false Hy are referred as
Jeaghd Hotd essdrhiodh shbdn @ @Eﬁ 3 Hod 88580 Sograde « 500 Senmr

Options:

Size of the critical region and power of the test

- S0b [Frod Hodreasn Hbain H6¥ @ng) 48



Confidence coefficient and size of type two error

DEFDAAH HHesddin shdckn Botss B8 &°:H55m &) Hodmesin

Confidence coefficient and Power of the test
E‘yﬁ;}f‘;éﬁcﬁﬁ} roeedan 2nbcin ;’f::tﬁé c%aoég__ Gl
3. ¢

Level of significance and size of the critical region
Srggee Jpow $HBCN SobY (FPod HB:PesM
4. %

Question Number : 48 Question Id : 9683553697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In testing of a parametric hypothesis. Uniformly most powerful test deals with
HoeE8ch HOEONSH HOB0DhD Ko JEEFS wdos $B5osDS HOF,

Options :

Both null & alternative hypothesis are composite
ey 8000 (Peegsinch HO¥enden Both Hodingsinen

Both null. alternative hypothesis are simple
ey s0Bai (DHergEinch H68enden Both HEFswen
2. % = =

Simple Null Against Composite Alternative

woeer DBYE Vs DocinE (Hersredhan
3 *\‘;.-""'ﬁ ﬂ —ik | e i.} [= 1

Composite null against simple alternative
Ry Socing vs DE¥ (Haegiimcisin



Question Number : 49 Question Id : 9683553698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The non-parametric test under the assumptions of (1) Measurements are such that the

deviations d; = X; —vi. can be expressed in terms of the +ve (or) —ve sign: (i1) Variables
have continuous distributions: (111) d;’s are independent
808 woSTod®ing) ehoddah H05

(1) di = x; -y; DdoSined + 8o < Hled Fodorr EHOD[YED
(2) Hexomaen esnmw\é“ DeresddinD ép;,l

(3) di en Srolseen

Options :
Median Test
AT Y-
1 % s0eigies $H0E
Run Test
HBH H568,
2. %
Sign Test
e 568
3.¢
Chi-square test
1’ - 38
4, %

Question Number : 50 Question Id : 9683553699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following distribution is considered for median test with small sample
sizes?

Bob Deressimed® 300 o (HOEFS HodrHns” 98 DeggHes a]u ety
bsfalatTomntven,



Options :

Binomial Distribution
B85 Deresdsin
1. %

Hyper Geometric Distribution

& HESE Dgrandsin
2.V

Geometric distribution
ﬁﬁgj&"‘ﬂé‘e a0 Degresddn

3. %

Poisson distribution
SPonERS Qarasdiin

4, ®

Question Number : 51 Question Id : 9683553700 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

.In case of two attributes A and B. the class frequency (a B) in terms of other class
frequencies can be expressed as

A 5800 B e Both Kmdoe idhindt,

(a B) 3518 PS5 588 Stiehe FSHGBom aee HESESSD)
Options:
(B) + (AB)
1. %
(B) — (AB)
2. ¢

, . (4B)-®)



, x N-(aB)

Question Number : 52 Question Id : 9683553701 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

(@)(B)
N

. then the attributes are

. If i case of two attributes A and B. (aff) <

, 2 a)p)
A $6c» B o3 8o Heswe dachind®, (af )*-’-1%. @00 & Demen

Options:
Independent

| % Rego|gsinen
Positively Associated
B SraieiitEn

2. % = :
Negatively Associated
20ET)E APeTSE5Ew

3. :
No Conclusion
it g g —Dar

4 % OWAOY oty

Question Number : 53 Question Id : 9683553702 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



With three attributes A, B and C, the frequency (A) in terins of ultimate class frequencies
is equal to

A B %66 C &3 S ihndnost, (A) FPR:ahpnsh @0l 818 PRiddine
SBomre $edsn
Options :

(ABC) +(ABy)
1. %

o (ABO)+(AB)+(Af0)

(ABC)+ (ABy) + (ABy)
3. %

(ABCO)+(Afy)+(ABC)+(AfFy)
4.

Question Number : 54 Question Id : 9683553703 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If A and B are independent events then (i) AF iE (11) A" B (1) A. BC are also
independent events. It 1s true for

A 00t B en o fobder wand () ASBS () A% B (iii) A, B
e gl Mmiden. HBE® Nesifo
Options :

(1) and (11)

(1) 80 (ii)



(11) and (111)

(ii) oBc5o (iil)

(1) and (111)
3 % (1) soBciw (111)

(1). (11)and(111)

(i), (ii) Bo6csn (iii)
4.9

Question Number : 55 Question Id : 9683553704 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Spearman Rank correlation require

2050650 £58 Brhonoding edHERs5

Options :

Data 1s on nominal scale

BEoENN TeENNTED 'Sp:gﬁn?gé

1.

Data 1s on ordinal scale

orarodEn [BHrshnd e
2. ®

Data follows normal distribution

Smeodiin argrdes Deresdsingg eiitohis
3. v



Data must be two independent variables

Both HeBol Sevrde Sarodsn

Question Number : 56 Question Id : 9683553705 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Is it proper to consider a hypothesis say ““The moon is a beautiful” is a statistical
hypothesis?

*Hothdh eolitore s’ a0 2k Fﬁmoa;éé 268D & az%;;, 68858 R
S8%50 KBt
Options :

Yes

e33R0

1. %

Cannot say

Dene
3. % o
Justified
SenBoort
4. % 2

Question Number : 57 Question Id : 9683553706 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



. Which of the following categories of tests that can be handled with Neyman's & Pearson
lemma?

ArS & HOOES Bim® AErodKe 880 Gng) $688m Gobrds’ a6?

Options:
Most Powertul Test

esebrods S8 H6F
1. ¢ 3 N :

Uniformly Most Powerful Test

QBB wdtod 8 H0Y

Least Powerful Test

8% 48 568
3. % - *

Linpaired Power Test

4w S00B5RODS 8§ 588

Question Number : 58 Question Id : 9683553707 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
. The power of a test will depend on!
H0E Gnk) ¥8 errdHs sotnod
Options :
The hypothesis tested

- ééémﬂzé aﬁéé

2. &



The alternate hypothesis

[BEsimoh H08enD
LD 2l o

Both the alternate hypothesis and the hypothesis tested

[BHamsmod H5o8end bain Ho8end HOF wBoth
3. % = (=% Qs h

The level of significance specified

108095 ﬁﬂﬁjé@b zgol

—0

Question Number : 59 Question Id : 9683553708 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. Which one of the following test is used to test whether an observed correlation coefficient
15 sigmificantly different from zero?

KR0S HiFdomod Homsin Ham o8 Kedohor Hfom so8° B8° $680SaR8,
808 $6808° ab &S@rSLE00
Options :

A test based on Standard Normal distribution

2}

B il Dgresdsin dbil eprdHed 508

1. #
A test based on Chi-square distribution
. B-95 Dgrasdsin b8 errBHes H68

A test based on t-distribution

t- Deresddin htd wErdH&d HOE
3.¢



A test based on F-distribution

) w F- Qgresiddin o sgedhésd 568

Question Number : 60 Question Id : 9683553709 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A hypothesis test 1s conducted at the .05 level of sigmficance to test whether or not the
population correlation is zero. If the sample consists of 25 observations and the
correlation coefficient is 0.60, then what is the computed value of the test statistic?

6% Rirdonotiin i sor o H08odrdE, gerson 0.05
5t 2.8 2080y 108 Adrodatheod. FHAGIED 25 5680505 $9R G0l KA

Sid0mots hesdo 0.60 eond ogs H08 @) et Denid Doas?

Options :

% 196

Question Number : 61 Question Id : 9683553710 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following test statistic is required for testing the homogeneity of population
and significance of difference between several means?

L E) Sepdohd Hochh eIg Sogpshine gy SErgdiine Gng) #géérﬁ}

568008, Bob rogg $680® 06 ot

Options :
Chi-Square
y2- 584
1. %

Student’s —t

o —t
2. % 90
Snedecor’s —F
3 ¢ f{,@ﬁéﬁ —F

Fisher's 7

4 % RaD

Question Number : 62 Question Id : 9683553711 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following test statistic 15 required for testing the significance of difference
between two population means when the sample sizes are large?

(88rE) Hosrminm R 3D\, Jotd S5m0 Soefy pmeisin g {ﬁvlgéérﬁ; 5680
08, (Bob PoggE 0506’ 06 eBshn.
Options :

1. %



Chi-Square

2

y© - H0E

Student’s —t
- ma::ﬁgg —t

Snedecor’s —F
3, ® _E::.'::'_i”ggﬁl —F
Fisher's - Z

256 —Z
4 odol

Question Number : 63 Question Id : 9683553712 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The test hypothesis deals with the Wald-Wolfowitz Run Test 1s
awef—cﬁ"éi}@* D% H0E, & HOE, aﬂaéf{,zﬁéﬁ e 65300.
Options :

Equality of two population means

Both S8 Hggsndimen HamHm

1.
Equality of two population variances
. Both SEHwe B0 D SEw



Equality of two population medians

Bots G%¥sne Sogigriedsinen Har5sn

Equality of two population p.d.f.s

4 Both Ssme Slela Vi By ellnl (Hebohdn Hirddm

Question Number : 64 Question Id : 9683553713 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. Which of the following distributions are involved in median test?

Bod Dgresddnedt 06 Sehsries 5586° Cvloielaveln

Options :
Geometric. Exponential and Normal

e & o, Fore HoBoh FeHEs

1. % %
Hyper geometric, Normal and Chi square
081G SY, el Bk B-rb
2. ¥ ' ;
Lognormal. Binomial and Normal
. erRaEid, B3 bahn Srard
3. 2

Poisson. Beta and Power series

SroneS, Der SrBcn 38 (BSronssn (Power series)



Question Number : 65 Question Id : 9683553714 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In testing for the difference between two populations. it is possible to use

Boh e VAN K TSV D Hb Soherd) eHarAoD

Options :
Wilcoxon Rank Sum test

DS s¥yo Troe 3ndsn H0F

1. %
Sign test
e 568
2.% 7
either Wilcoxon Rank Sum test or Sign test
OS5 =258 Trgothe Bwdin H6E Toe Hthe H58Y,
3.¢
None
4, ®

Question Number : 66 Question Id : 9683553715 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following are the basis for studying the Non parametric methods?

oo dc% c.Jdefi,JéJ ElAfs T Fo5e=08 (Bobd B eprdin H&

Options :
1.¢



Order Statistics

(BaSoesiies Srogysinen

Sufficient Statistics

Soge Troggdaien
2. %

Unbiased Estimates

e,

Darl¥ woldoeen
3.% %

Efficient Estimates

ﬁmaia% eoSaren
4, %

Question Number : 67 Question Id : 9683553716 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. When there are two samples for testing the randomness. Wald-Wolfowitz test 1s to test
whether 2 samples being drawn from the same population or not: Let U be the number of
runs then the values of mean: E (U) and variance: V (U) are equal to

D0t (et e ar)EssH B80S0, o8 6*8sin K08 eBoth
Batre S8 amair S el ed-56N04 H658° H65005; U ek Htite
Rogy eondeed Hitn dess E (U) snddin E{‘E;EB V (U) e Hairdsm

Options:

n+l n(n+2)
n 4An-1)




n—2 nn+2)
2 An+])

n—1 n(n+2)
T Am+5)

[ B

n+2 n(n-—2)
4w 2 An-1)

Question Number : 68 Question Id : 9683553717 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

. In order to test the randomness among sample observations, we may use the following
test as most suitable option

$86r% Hodedod® drMEsh H68odme08, hdn & (Bod H6EH wiod edtrodd
o 2l 1) Gl i G () e

OB SIarAOSHLY)

Options :
Median Test
- éﬂiﬁér‘ﬁeﬁé 536.5
Run Test
- 5B H68,
Sign Test
, e aﬂéé

4, %



Chi-Square test

20
3-(36) Srsw

Question Number : 69 Question Id : 9683553718 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following designs are based on the mathematical models of one way and
two way classifications respectively?

B0 55508° DB Shsm D8 HHbam A aﬁegéérme 1B SHrTed erdhd
0£006
Options :

Randomized Block Design & Latin Square Design

SN HOL BIS 5B e85 SEEIS
1. %

Latin Square Design & Complete Randomized Design

oS HZBSS $bosn Sodrd airE 853
2. % - e

Complete Randomized Design & Randomized Block Design

R0IPD AP enE B3N s0bain ardhing pod 833
3 = el el w)

Randomized Block Design & Complete Randomized Design

CSeyNE ot BIS HHbahn Sogry oird)ng 850
4, %

Question Number : 70 Question Id : 9683553719 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What 1s the relative efficiency (E) of Latin Square Design over Randomized Block
CSS : ESS

Design when (1) rows are treated as blocks and (i) s -
m-1 (m-1)(m-2)

2
€

]

oSriE ok 833 RN HPBSS g %’fﬁjg_ cﬁu'ﬁ'g{) (E)os? (i) efsitodiesd

CSS ESS
m-1"" (m-1)(m-2)

Sy %
poisenre HBKGoNN  (11) s =

Options :

52+ (m+1)sg
(m+3)sz

52+ (m+1)sz

(m— ]).S‘E.—

2. %

5. +(m—1)sz

2
Mmsg

3.v

5. +(m+5)s;

N2
(m—35)s¢

Question Number : 71 Question Id : 9683553720 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



: . : 7 ) . ;1
If D1. Dy are two designs with variances 61” & 67 and with replications 11 .17 then the
variance of the difference between two treatment means for Dy & D, are respectively are

; 2 V.
Dy. Dy e Both 85e @}%@w 012{)360533 0y 20Boin @émé&{‘% 1. I BO0:

Dy. Dy o §65 Both sdarree sl dgeegan @ng) E@%@@ D/

Options :
L. 5
A
1. % 1 2
2. 20
> N Ta
2 2
20, . 20,
3% D ¢
2 7
20, 20,
i
4.« 1 -

Question Number : 72 Question Id : 9683553721 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ligt 33 be the Total of known values of jm columu; 3/ be the Total of known values of .

row: 1 be the Total of all (1t-1) known values; 't' be the number of blocks and 't' be the

number of treatments. then the missing plot in R.B.D 1s x=

y; S50 i Dewsh $85:56° BOBI Dende Gn%) i,

y; o3 i efissse’ 3003 Do @) Fndiy; ¥ &30
(rt-1) &) B Denide Angiin; 't ©HR6 poridne Jogy,

,\'\b!_

't 36 siaedine Sogy wand dﬁﬂéﬁ}&&é POt §556° 82008 508ed x Dend

Options :

ry;tEn =y,
(r+D(r+1)

1. %
LY -y
, v D=
.F'.j'_dr- — I'.Tj_ + 1
S )

o g
Py +1y; =)

(2r-1(2t-1)

Question Number : 73 Question Id : 9683553722 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



.In the analysis of data of a Randomized Block Design (RBD) with b blocks and v
treatments. the error degrees of freedom are equal to

b poidven Hbch v eNTEing S AREINE PotESs derod DR’ 5%

dolgeeen Diirdinre sotron

Options :

- blv—1)

2. % vib—1)
(b—1)Nv-1)

3.¢

4 % vb

Question Number : 74 Question Id : 9683553723 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



. The ANOVA table for Randomized Block Design (RBD) 1s given below:

Source of Degreesof  Sum of Mean Sumof  F-

Variation freedom(d.f) Squares(S.S) Squares (M.S.S) ratio

Treatments 2 72 - X

Blocks 3 - - ¥

Error - 12

Total 11 126
After finding the missing entries, the value of F for treatments (X) and blocks (Y) are
respectively

SRS o 855 6% Bots ANOVA 58¥ sikebod

Dbe w08 dogeren(df) Horo dvdin  HrgEh e F-

(S.9) MSs) )8
&aroren 2 2 - X
Ep[)fﬁfﬁjj@j 3 - - Y
& } &
& 12
Bndin 11 126

2005 8 S0 dtoard F qog) Devdest shToe (X)
shBafn podisn (Y)en st
Options:

1 ¢ X=18 ¥=1

, x X=T. Y=18

X—1. ¥—0

, u XEV2

Question Number : 75 Question Id : 9683553724 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

For estimating the population proportion P 1n a population having N units, the variance of
the estimator p of P, based on a sample of size n. 1s

N ey 593 FEnd®, &% A8 P Q) sode S0 (B8RS Hodreasn W

agrdsnm, P ant) @ode p GnE) )3

Options :
N_ PO
1 % N-1 n
N_ PO
2,* :"i'r_]. j'lr
N—n Q
3 % N-1 n

4. N—-n n

Question Number : 76 Question Id : 9683553725 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The required condition for using an ANOVA procedure on data from several populations
is that the

wad 6500 Hok ainey) Hemodin g @;’ & ) m'ﬂull:'c-' aGFa)) GRarRAoSGRRE @iBdd

205 athéos

Options :



selected samples are dependent on each other

20tHE) (BSBrHnen il 80 egrdht dnothé

Sampled populations are all uniform

&% (H8BrHHnen EBEHHENT ot

Sampled populations have equal variances

& H88rHRme DY8en HIT[HNIT CIOE
3.v

Sampled populations have equal means

&Y (H&ErEHHwe & eEgaTeen HETRHT abothé
4. %

Question Number : 77 Question Id : 9683553726 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If the population size is ‘N" and sample size 1s ‘n’. then total number of possible samples
that can be obtained through SRSWR and SRSWOR respectively are

&% Hoimesin N0 ([586r HBMradin n’eond, SRSWR bk SRSWOR

oo SPoBEN andiin (H8rSHne Hogy HSw

Options :
N—n+1, i N )
7]
1. % '
N
N"|




| G
3 % '+l
'l,\l;r?‘il—]. ‘ :‘lhr \.I‘
\n+1}
4. %

Question Number : 78 Question Id : 9683553727 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The total number of possible samples of size 2 that can be drawn from a population with

5 units without replacement 1s

N ARy, - £ : -
86A 3{‘5&@ 288 oo 5 ahrdey 63 2.8 60 D08 DEboSKe (HAER HosrEIn
2 @nog) s Seurare Dogy

Options :

1.+ 10

3% 5

4. %

Question Number : 79 Question Id : 9683553728 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Stratified random sampling 1s recommended where the population is
2508 d‘mtﬁ&f@-‘é (HAErHEDD & SPESnSS SEvLev)) Dohaaron
o 4l J

Options :



HOIIng c11201s

- SerdohHes
Non-homogeneous
5 % Derdahs
Non-homogeneous but can be divided into homogeneous sub-populations
3 ¢ Serdichd =% == Sedcdh absEdnen DERoHSAS
Having a linear trend
DEE (D3 8O
4. % s

Question Number : 80 Question Id : 9683553729 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a sample survey. the true value of a unit is 16 and it 15 wrongly recorded as 61 and

analysis carried out. This error comes under
28 (D88 [(rmsnd®, o8 alrde ang) Ve dend 16 b 61 @ S5 S3rd

Jahabod Hdahn JFke 20Rod. & 6%kn 61 BobE H:kob.
Options :

Sampling Error
(2&8m (Mere &°:5m

1. #
Experimental Error

- @&mmé@é TALPOTNDY
Non-sampling Error

3 ¢ PREFD [KfrEss 55



Arnthmetic error
o &°550

Question Number : 81 Question Id : 9683553730 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. Systematic sampling means
(Biresotie D&Ursn ebdme

Options :

selection of n contiguous units
HHDMTS Al dodhé

selection of n units situated at equal distances
SBEPEENEE0E) 1 cHrReH o

2.
selection of n largest units
3 % 28 1 e Joihe
selection of n middle units
S0EeE ) N AreD oJodes
4, ® a '

Question Number : 82 Question Id : 9683553731 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. In simple random sampling with replacement. variance of sample mean 1s equal to
86A fﬁ; el cii“rtég,&l;é (DBEF ([reaing®, (H8TPD SreEhin anE) &'r_ﬁé@g RIRITPRIAID

Options :



‘ G .
1« n N)
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2. % M7 ’

| | _ 1 "gg

\ n+1 N-1)
3. %

fl_Lh‘g?

4. F \ H j,f-|—]_

Question Number : 83 Question Id : 9683553732 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. By suitably selecting the width. the moving averages of a time series can be made to be
free from the effects of
S0 SRS e JoDHE o oo SoEd @ng) 508 Dgigired (Herdine Hob

Dfng Toer dohisid)
Options :

Trend and Seasonal Variation
288 dadn Lo wrodergen
1. %

Seasonal and Irregular Variation
Boeh soBain (B B8rd wrodergen
2.

Trend Only

A2 o
3. % s



Trend and Irregular Variation
(598 obain (BepBErs wrodegsn
4. %

Question Number : 84 Question Id : 9683553733 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
which of the following methods 1s based on the total nformation of the given data?
& (Bob UG b akpds demodin Gng) Sndin Sirading eeht Gotnob.
Options :

Moving Averages

| % 308 et

Ratio to Moving Averages
) % DO Srgiire Q8

Link Relatives Method
Do ﬁﬁ;gj@ N8
Q)

Ratio to Trend Method
(@ S DS
el—o J—o o

)
4.9

Question Number : 85 Question Id : 9683553734 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The component of time series attached to ‘long term variations ‘1s termed as
DD Troderin’od” g J0%a8s srolEd g @085 iR @oérl
o)

Options :

1. %



Cyeclic Variations

SBaH arotensio

)]

Secular Trend
oty
5 v 03

Irregular Variation
[Bshidre orodegsn
3. %

Seasonal Variations
200650 -;‘7“*651’3‘3563
4. %

Question Number : 86 Question Id : 9683553735 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

changes in sales of woolen cloths in winter season comes under

BemeeBnet A

(AW
(=8

R0sHe @m&éﬁnm@g drdnen (Bobned 8o dakom.

Options:

Nature’s Impact
(258 (grasm
1.¢ |

Man-Made Conventions

R R

Tastes and Habits of Individuals

3 % 28580 efhhen 00D woEénen



Customs and Traditions of People

iuf_un?_a G0 eroren 083D DEoen

Question Number : 87 Question Id : 9683553736 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The very significant drawback of semi averages method in time series analysis 1s, while
finding the relationship between average ‘ui” and °t’, the following relation 1s assumed
which may not be suitable to the given data

o3 Sjﬁa‘;ﬁé‘g @Q Qifen :;’th& o), TPer smgEhIe 5w, ‘o SO ‘o avlaly

Somoged)) BN, & (Bod Homoin sl derodindd Hoafdfd)

UI‘.
e

Options :
Parabolic
Serdihsin

1. %

Exponential
YreEEn
5 % a ] 8853

Power Curve
%ﬂ}&éﬁ%@ HBHw

Linearity

ot &

Slet AR
4.

Question Number : 88 Question Id : 9683553737 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



. The weighted average of price relatives, the weights being the base year money value of
the commodities. is the
88 Homots grod Hins® D0 08 ay) dend sgrd HoNETHND grdnmr 650

Options :

Paash-..he‘s Index Number
u_.‘ D8 rJOS,J“

1. %
Laspeyres Index Number
erdn b SrdE Hoax

5 & °3 )
Marshall-Edgeworth Index Number
Sr8S-05HE S Doy

3. % )
Fisher’s Index Number
936 Gl Dogy

4. %

Question Number : 89 Question Id : 9683553738 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. Which index number (IN) is considered to be an i1deal
o GrdE Sogy esysore HoKE oS0tE0d

Options :

Paasha..he's Index Number
u_.; D8 B rJDE‘Jﬂ

Laspeyre’s Index Number
ers) oDt SrdE Sogy
2. % b L=



Marshall-Edgeworth Index Number
Y S-O5HE Sd) Doy

Fisher's Index Number
-:-,.Jmf) e tu mO-&J
4,

Question Number : 90 Question Id : 9683553739 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. Which type of relationship among Laspeyer’s and Pashe’s index numbers will provide
Fisher’s index number‘j
29) cﬁjﬁ H60D o D8 F ogge ﬁJCﬁJ B8 HoaoREng® §i

e

Srddogd
wobnob

Options :

Harmonic Mean of Laspeyer’s and Pashe’s Index Numbers
ergnahB $Hoain art Sl Dogge Y Seihin

1. %
Arithmetic Mean of Laspeyer’s and Pashe’s Index Numbers
ergaDhb $08ahy okt Hrd) KHogge @o¥ HHessnam
2. %
Geometric Mean of Laspeva "s and Pashe’s Index Numbers
era Db HBasn a8y & ) Hogge M sHgigEam
3.¢
Weighted Mean of L"’HPE} er’s and Pashe’s Index Numbers
4% era)ahb #Hdakn P8 Srd Hogge grd SngiEnan

Question Number : 91 Question Id : 9683553740 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The process of joining of two series of index numbers with different base years as a
single series of index numbers with one base period is referred as

£ . i Iy ; ¢ =) " X

30 w8 Sosd)Bmed® $i) Bok @me drdhoppd H¥EE S Sogyr el

srdsoing adion HBHD & DHE Dorh

Options :
Deflating
(5BcenHEBes

1. A = 2 al
Merging

5 % gexziéoo

Splicing

3 @,ﬁ.‘g&oiﬂdo
Mixing
DI E Tetwlate!

4, ®

Question Number : 92 Question Id : 9683553741 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

. What 1s the usual relationship between the Demand and cost price when the supply is
fixed m a competitive market?

Y2 éﬁcﬁgﬁﬁf oo E[%tﬁon? R Aved bk dahes St saedes Homotio aihd

Options :
Positive

céamé@_éaﬁm
1.4



Negative

Eax-wé{;één
2. % '
Mixture
EIEENS AW
3. %
Neutral
E3leln )
4.% @

Question Number : 93 Question Id : 9683553742 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. Which of the following will be mnfluenced by the factors like Income, Tastes and
Preferences. Prices related to Goods and Services., Number of Potential customers.
consumer’s expectations, etc.

Bod Q& 1) wodiioe 0P, &EPaDs, Bidhen oo Hshen oA Ded §oe

Hoaodim, QAAriThe sodoen JAarRNThe ﬁﬂéj% 2oy [HEdEeron

Options :
Demand

1@ flext=
Supply

- piteste]



Market Promotion

et

ﬁmﬁ@ﬁ (2I3°3D

Inflation

(5 31555&::.?65.‘_133
4, % -

Question Number : 94 Question Id : 9683553743 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following can be obtained at the poit of intersection of supply and demand
curves?

Bob 8 B HHoe Hbokn Aoed HEdne potsd otk ol cylelatatin)
Options :

Averages of Demand and Supply

A8 $0Bain HBsioe GnE) ogigsiren

1. %

Equilibrium Price and Quantity

5 ¢ B0 200D DO @) Dnegs

Standard Price and Quantity

g 0D GB HdAin HOHreasn

{1 T

2]

Based on the varation of Demand

Aoed rﬁmé@, E{ye‘lﬁ SES0TT



Question Number : 95 Question Id : 9683553744 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ISS in Indian administrative services is the acronym for
eS8 HBTred XBPS ISS 6% Ho§8tes

Options :

Indian Service Systems
er&ioh D 50550

1.%
Indian Social Systems
arsdicsh Do 050

2. % )
Indian Statistical Services
e85 Fromd D8

3. ‘.\;‘) L=r ) o
Indian Statistical Societies
FBECH Frogys Fﬁcm;é

4, #

Question Number : 96 Question Id : 9683553745 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. Let ;Dy be the number of deaths in the age group (x. x+n) and ,Py be the total population
of the age group x to x+n. then the age specific death rate for the age group x to x+n

(ag) 1s given by
(x. xtn) cﬁtﬁsna‘ﬁfrﬁ thitaiine oy oDy HHOAW x fod xtn «5&1@{3{?5&5 Gi08), Snehiin

arer Py @00 X Hod xtn aﬁcﬁ:neégaﬁ;; g5 Har ”gﬁ %0869 Obn gy

Options:



2D X1000

1“# o E
P
———X1000
]lDH
2. %
——=X100
II.D!{
3. %
—=X100
]lP]{
4. %

Question Number : 97 Question Id : 9683553746 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The central mortality rate my in terms of qy 1s given by the formula
B
SolBc% S0E5Ee0en my , gx D0 SorEin ooe as@bod

Options:

2q+/(2+qx)

2q¢/(2-q)

2. &



Question Number : 98 Question Id : 9683553747 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Population census in India are undertaken at one of the given intervals
grisel DS asrgr Kesd (8o By dorsdnes® ol mld® Jhe@theod

Options :

Eight years
a0 Do Banen

1. %

Ten years

26 HodeBinen
2. ¢

Twelve years

Dot Do B0
3 %

Fifteen years

PRTATSN o8B
4. %

Question Number : 99 Question Id : 9683553748 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
. The Crude Death Rate (CDR) 1s defined as. (where D and P are number of deaths and

total population, respectively)
o8 Hbere Tin ASdodathdod (D HBdn P $6dm fiwren 60k avdo awgr)

Options:

CDRZEKI{]OO
i o

1.¢



CDR= i x1000
D

2. %
D
CDR=—x100
! 3
3. %
cor=L <100
D
4, %

Question Number : 100 Question Id : 9683553749 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A statistical organization established by the Department of Economic Affairs, Ministry
of Finance 1s
@gé Agesore g, @gé MOBES Ty e oD 305 %oanéé }60;%

Options :
National Sample Survey Organization

edoh (H8BrD Hotse Hod
1. ¢

World Health Organization
(208305 egc?;%ﬁgj 3—60?2

Labour Bureau of Statistics

se6)% 2Bt D) Srogrseen
3. i@ [} f) i) 3]

4. %



Indian Labour Organization
erts&iadh Eﬁﬁéé ‘;fa'o}é:-.



